Georgia ENR CDE Team Activity 

Practice Example 2


Mr. Jim Smith Has recently moved to Georgia and purchased a 200-acre farm near Gainesville.  Mr. Smith is recently retired from the military and has dreamed of someday having his own farm with chickens and cows.  Mr. Smith wants to build two 40’ x 500’ broiler houses on 35 acr4es, build a home on 15 acres and use the remaining 150 acres as pasture for his cattle.  He has been told that he must have a nutrient management plan before building his chicken houses.


Mr. Smith has talked to Big Bird Poultry Company and has determined that his contract will provide an average placement of 26,000 chickens per house six times a year.  Farmer Smith will grow a 5.5 lb. Broiler with a mortality rate of 4%.  According to his local county agent, Mr. Smith has been told that a good estimate of manure production is one half pound of manure for each pound of live weight.  According to Big Bird Poultry Company the average nutrient analysis on their broiler litter is:

Nitrogen
=
3.2%

Phosphorus
=
2.5%

Potassium
=
2.0%

1.  According to Big Bird Poultry, broiler litter can range in nitrogen content from as low as 2.0% to as high as 5.0%.  What is the maximum amount of nitrogen per ton of poultry litter Farmer Smith can expect from his broiler houses?


a. 64 lb.


b. 100 lb



c. 40 lb


d. 50 lb

2.  The best way to determine the nutrients available in poultry manure is:


a. using feed intake data


b. using a neighbors values


c. laboratory analysis of samples


d. weighing and subtracting moisture content

3.  The primary use of poultry manure is:


a. as a fertilizer


b. cattle feed


c. land fill


d. composting of dead birds

4.  On an annual basis, how many broilers will Mr. Smith send to market?


a. 312,000


b. 299,520


c. 156,000


d. 260,000

5.  On an annual basis, how many pounds of market weight will Mr. Smith produce in his houses?


a.  1,647,360


b.  2,100,000


c.  1,750,000


d.  1,716,000

6.  On an annual basis, how many tons of manure will be produced?


a. 525.0


b. 437.5


c. 411.8


d. 300.0

7.  On an average basis, how many pounds of nitrogen will be produced on Mr. Smith’s houses annually?


a. 28,000


b. 21,000


c. 33,600


d. 26, 355

8.  Mr. Smith has been told he can apply a maximum of 300 pounds of nitrogen per acre on his pastures.  How many acres will be needed to utilize the manure produced in his houses?


a. 87.8


b. 70.0


c. 112.0


d. 93.3

9.  How many tons of poultry litter can be applied per acre of pasture using Big Bird’s average analysis?


a. 5.00


b. 2.50


c. 4.68


d. 3.00

10. When spreading poultry litter, farmers should be most concerned about:


a. moisture content of litter


b. age of the litter


c. weather conditions


d. soil type

11.  Mr. Smith is considering storing the poultry manure on his farm.  The best system for storage is:


a. stack house


b. under plastic cover


c. in a feed bin


d. uncovered piles

12.  Poultry litter is a popular feed for cattle because:


a. it is a low cost ingredient


b. it is high in phosphorus


c. it is high in calcium


d. it is easy to handle

13.  Mr. Smith is considering composting his mortalities.  One of the advantages of composting is:


a. increases the volume


b. reduces the volume


c. reduces the nitrogen content


d. reduces the phosphorus content

14.  When composting dead birds, straw is added to compost to provide:


a. volume


b. moisture


c. carbon


d. protein

15.  Another choice for disposing of mortality is incineration.  A disadvantage of incineration is:


a. causes water contamination


b. requires more labor


c. reduces odor


d. fuel costs

KEY:

1. B

2.  C  

3.  A  

4.  B

5.  A 

6.  C

7.  D

8.  A

9.  C

10.  C

11.  A

12.  A

13.  B

14.  C

15.  D

